रख-रखाव एंव अभियांत्रिकी इकाई भारतीय कृषि अनुसंधान परिषद भारतीय कृषि अन्संधान संस्थान नई दिल्ली-12.

सं. 156-49/18-19/एमईयू .

दिनांक

29-08-2018

<u>निविदा सूचना</u>

निदेशक, भाः कृः अन्ः संः, की और से एवद्वारा अधोलिखित निविदा कार्य हेत् केः लोः निः वीः , एमः ईः एसः, रेलवेज, एम. सी. डी., लोनिवी, या अन्य केंद्र / राज्य सरकार विभाग/ अर्द्ध सरकारी एजेंसीयो के साथ पंजीकृत पात्र ठेकेदारो / एजेंसीयो व विशेषकृत एजेंसीयो से म्हरबंद मद दर निविदा आमंत्रित की जाती है । एजेंसीयो के पास वैध पैन , वैट/ टिन तथा GST पंजीकरण सं. होना अनिवार्य है । तथा नीचे निर्देशित कार्यो हेत् विगत तीन वर्षो में दो समान कार्यो का अन्भव होना चाहिय ।

क्र. सं.	कार्य का नाम	अनुमानित लागत	धरोहर राशि	समापन अवधि
1.	Repair and replacement of broken AC sheet roofing by GS sheet to open court yard of B-32, Annexe of Farmer Hostel at IARI, New Delhi-12	Rs. 81,975.00	Rs. 2,000.00	1 माह

निविदा की बिक्री हेत् आवेदन पत्र की प्राप्ति की अंतिम तिथि निविदा की प्रस्तुति की अंतिम तिथि : निविदा खुलेगी निविदा की कीमत : ক্

इच्छुक एंव पात्र एजेंसीया अन्सूची को भाः कृः अन्ः संः की वेबसाइट <u>www.iari.res.in</u> और http://eprocure.gov.in_ से विवरण को देखा तथा डाउनलोड भी किया जा सकता है तथा रख-रखाव एंव अभियांत्रिकी इकाई, निदेशालय, भाः कृः अन्ः संः , नई दिल्ली-12ः से रूः 150/- मात्र (अप्रतिदेय) के भ्गतान पर निविदा दस्तावेज क्रय भी किया जा सकता है ।

सहायक प्रशासनिक आधिकारी (निर्माण/ एम. ई. यूनिट)

26-09-2018 को 14.30 बजे तक

150/- मात्र (अप्रतिदेय)

26-09-2018 को 15.00 बजे तक

: 25-09-2018

MAINTENANCE & ENGINEERING UNIT **ICAR-INDIAN AGRICULTURAL RESEARCH INSTITUTE** NEW DELHI-12.

No. 156-49/18-19/ME Unit

QUOTATION NOTICE

Item/percentage rate sealed Quotation are hereby invited on behalf of the Director, IARI from the Contractors Registered with CPWD, MES, Railways, MCD, PWD or other Central/State Govt./Semi Govt. agencies. The contractor must have valid IT-PAN,VAT,TIN and GST registration number and having experience of two similar nature of works in last two years for the work mentioned below :

S.N	Name of work	Estimated cost	Earnest
		/ Item Rate	Money
1.	Repair and replacement of broken AC sheet roofing by GS sheet to open court yard of B-32, Annexe of Farmer Hostel at IARI, New Delhi-12	Rs. 81,975.00	Rs. 2,000.00

Last date for receipt of applications for sale of quotation Submission of quotation

: 25.09.18

: up to 14:30 hours of 26.09.18

Opening of quotation

Desirous and eligible agencies to download the schedule and details may visit IARI website www.iari.res.in or http://eprocure.gov.in and deposit the fee of Rs. 150/- (non-refundable) along with requisite EMD at the time of filing of Quotation. The rates on schedule and requisite eligibility documents should be filed in a separate envelopes submitted both together in a bigger envelope in case the Quotation is downloaded from the net, else the Quotation will be rejected. The schedule of work can also be purchased on payment of Rs. 150/- (non-refundable) from Tender Cell of M.E.Unit, Directorate during office hours on any working day by producing the eligibility documents and depositing the earnest money in the form of PO/DD favoring "Director, IARI, New Delhi-12." The Director IARI reserves the right to reject or accept any Quotation without assigning any reason. Quotations shall be submitted along with forwarding letter addressed to Director IARI otherwise quotation will not be considered.

Asstt. Admn. Officer (Works)

Date: 29-08-2018

Copy to:-

- 1. Comptroller Directorate for kind information please.
- 2. F. & A.O.(Audit-IV)
- 3. AAO (Contingency).
- 4. In-charge USI to display on website.(The Quotation Notice already sent to IARI web master)

: 15:00 hours of 26.09.18

No. 156-49/18-19/ME Unit

Name of the work: Repair & replacement of broken AC sheet roofing by GS sheet to open court yard of B-32, Annexe of Farmer Hostel at IARI, New Delhi-12.

SCHEDULE OF WORK

S.N.	Particular	Qty	Unit	Rate	Amount
1.	Dismantling of broken AC sheet roofing & dumping it to the dismantal site near WC qtr. as per the direction of Engineer In-Charge.	38.00	Sqm	40.00	1520.00
2.	Making chases up to 7.5x7.5 cm in walls including making good and finishing with matching surface after housing G.I. pipe etc.	20.00	meter	93.85	1877.00
3.	Providing and fixing precoated galvanised iron profile sheets (size, shape and pitch of corrugation as approved by Engineer- in-charge) 0.50 mm (+ 0.05 %) total coated thickness with zinc coating 120 grams per sqm as per IS: 277, in 240 mpa steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microns minimum to avoid scratches during transportation and should be supplied in single length upto 12 metre or as desired by Engineerin-charge. The sheet shall be fixed using self drilling / self tapping screws of size (5.5x 55 mm) with EPDM seal, complete upto any pitch in horizontal/ vertical or curved surfaces, excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	40.00	sqm	550.40	22016.00
4.	Finishing walls with Premium Acrylic Smooth exterior paint with Silicone additives of required shade				
	Old work (one or more coats applied @ 0.83 ltr/10 sqm).	40.00	sqm	47.25	1890.00
5.	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade				
	Old work (one or more coats)	70.00	sqm	33.35	2335.00
6.	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade :				
	One or more coats on old work	20.00	sqm	51.30	1026.00
7.	Steel work in built up tubular (round, square or rectangular hollow tubes etc.) trusses etc., including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer, including welding and bolted with special shaped washers etc. complete.				
	Hot finished welded type tubes	220.00	kg	90.25	19855.00
8.	Providing and Fixing 15 mm thick densified tegular edged eco friendly light weight calcium silicate false ceiling tiles of approved texture spintone/cosmos / Hexa or equivalent of size 595 x 595 mm in true horizontal level, suspended on inter locking metal grid of hot dipped galvanised steel sections (galvanising @ 120 grams per sqm including both side) consisting of main 'T' runner suitably spaced at joints to get required length and of size 24x38 mm made from 0.33 mm thick (minimum) sheet, spaced 1200 mm centre to centre, and cross "T" of size 24x28 mm made out of 0.33 mm (Minimum) sheet, 1200 mm long spaced between main'T' at 600 mm centre to centre to form a grid of 1200x600 mm and secondary cross 'T' of length 600 mm and size 24 x28 mm made of 0.33 mm thick (Minimum) sheet to be inter locked at middle of the 1200x 600 mm panel to from grid of size 600x600 mm, resting on periphery walls /partitions on a	21.00	Sqm	1497.90	31456.00

	Total=	Rs. 81,975.00
having thermal conductivity <0.043 w/m 0 KC.		
per B.S. 476 part IV, 100% humidity resistance and also		
0.50 (Minimum), light reflection > 85%, non - combustible as		
sqm.The calcium silicate ceiling tile shall have NRC value of		
exposed frames/opening (cut outs) having area less than 0.30		
measured from wall to wall. No deduction shall be made for		
Note :- Only calcium silicate false ceiling area will be		
as directed by engineer-in-charge.		
baked paint, for all heights, as per specifications, drawings and		
24 mm of all T-sections shall be pre-painted with polyster		
1200 mm centre to centre along main 'T', bottom exposed with		
galvanised steel level clips of size 85 x 30 x 0.8 mm, spaced at		
50 mm long dash fasteners, 4 mm G.I. adjustable rods with		
of size 25x35x1.6 mm fixed to ceiling with 12.5 mm dia and		
fixtures, smoke detectors etc., wherever required. Main 'T' runners to be suspended from ceiling using G.I. slotted cleats		
making opening for services like diffusers, grills, light fittings,		
(Spintone / Cosmos/hexa) in the grid, including, cutting/		
edges calicum silicate ceiling tiles of approved texture		
screws @ 230 mm interval and laying 15 mm thick densified		
plugs at 450 mm centre to centre with 25 mm long dry wall		
made of 0.40 mm thick (minimum) sheet with the help of rawl		
Perimeter wall angle pre-coated steel of size(24x24X3000 mm		

Subject to the following terms & conditions:-

- 1. The work shall be executed as per CPWD specifications.
- 2. Income Tax, work Tax & work cess as per norms shall be recovered from the bill.
- 3. 1% water and electrical charges will be recovered from the bill if supplied by the Department.
- 4. The work shall start within 7 days from the date of award and complete within one month failing which a penalty @ 1% per day delay will be imposed on the bill amount maximum upto 10%.
- 5. GST will be paid extra as per norms of the Ministry of Finance.
- 6. All the material, laboures, T & P etc. required will be arranged by the firms itself.
- 7. The agency shall deposit security @ 5% of the sanctioned amount including EMD.
- 8. Any other item to be required at site to complete the work be executed as per lowest quitted rates.on DSR-2016.
- 9. The rates quoted shall remain valid for 180 days from the date of opening of quotations/tenders.
- 10. A running payment may be made of the successful completion of work for $1/2^{nd}$ or more amount of work.
- 11. The Director, IARI has the right to reject any or all the quotations/tenders without assigning any reason.

Percentage rate to be quoted above or below in figure:

In words:

Name & Signature of the Agency:-....

(VIKAS KUMAR) Juniar Engineer/ T-3 (Er. CHARAN SINGH) Asstt. Chief Tech. Officer (Civil), ME Unit